| EQUIPTO

Modular Mezzanine Assembly

General S%Enzg.m

MEZZANINE MODULES SHOWN REPRESENT THE FIVE
STANDARD STAIRWAY LOCATIONS. STAIR
LOGATIONS MAY BE MOVED FROM ONE SIDE TO
THE OTHER AND FROM FRONT OF MEZZANINE TO

THE BACK. 12 DEPTH (4" FRAME SPACING) SEE DETAILS: (i
¥
STANDARD MEZZANINE FLOOR HEIGHTS ARE: W)
#80000 SERLES MEZZANINE - — 8' 1-5/8" DOOWEOO® ®
#61000 SERIES MEZZANINE - 10" 1-5/8" ) 9@ @ D ® @D

CIRCLED NUMBERS (1) SHOWN UNDER EACH
MODULE INDICATE ASSEMBLY DETAILS THAT

16" DEPTH (8' FRAME SPACING) SEE DETAILS:

PERTAIN TO THE ASSEMBLY OF THAT
PARTICULAR MODULE.

PEDIORBE®D

| b0 eepe - SN

GENERAL MODULAR MEZZANINE ASSEMBLY INSTRUCTIONS

CLEAR THE FLOOR AREA WHERE THE MEZZANINE 1S TO BE ASSEMBLED. MOVE ALL THE
MEZZANINE MATERIAL NEAR THE CLEARED AREA. READ ALL THE ASSEMBLY INSTRUCTIONS
BEFORE BEGINNING ANY ASSEMBLY WORK. REFER TO ANY FLOOR PLANS AND DRAWINGS
PERTAINING TO THE ERECTION AND DETERMINE LOCATION, SIZE, AND TYPE OF MEZZANINE
T0 BE ASSEMBLED.

YOU ARE NOW READY TO PROCEED WITH THE ACTUAL ERECTION ASSEMBLY..
1. STAND TWO UPRIGHT FRAMES VERTICAL, WiTH THE FOOT PLATES ON THE FLOOR.

2. PLACE TWO BEAM ASSEMBLIES, HORIZONTALLY AT THE TOP BETWEEN THE TWO STANDING
FRAKES AND BOLT INTO PLACE AS SHOWN. BE CERTAIN THE PERFORATED FLANGES OF
THE BEAMS ARE TC THE TOP..

‘3. REPEAT STEPS 1 and 2 WITH ADDITIONAL BEAMS AND VERTICAL FRAMES.

4. IF THE FRAME SPACINGS ARE TO BE 4'-0" OR LESS, INSTALL THE RIGID BACK TIES
. SHOWN IN DETAIL 7. IF THE FRAME SPACING 1S TO BE 8'-0", IMSTALL THE END
SUPPORT CHANNELS SHOWN IN DETAIL 8. CONTINUE FRAMING IN THIS MANNER UNTIL
ALL UPRIGHT FRAMES ARE STANDING AND HORIZONTAL BEAMS ARE BOLTED IN PLACE,
. ALL AT THE SAME LEVEL..

5. COMPLETE THE HORIZONTAL FLOOR SUPPORT ASSEMBLIES, AS SHOWN IN DETAIL 2.
NOTE - IF THE FRAME SPACING IS 8'-0", ASSEMBLE THE DOUBLE CHANNEL SUPPORTS
SHOWN 1IN DETAIL 3. POSITION THE TIE CHANNELS AND DOUBLE CHANNEL SUPPORTS
AND FASTEN ON TOP OF THE END SUPPORT CHANNELS. SEE DETAIL 9.

6. FASTEN ALL DIAGONAL BRAGES IN PLACE. SEE DETAIL 8,

7. ASSEMBLE STAIRWAYS AND FASTEN TO MEZZANINE. SEE DETAILS 11, 18, and 19. FOR
STAIRWAY ASSEMBLY INSTRUCTIONS SEE DRAWING #413348 or #41466A,

8. INSTALL THE MEZZANINE FLOOR GRATING PANELS. SEE DETAILS 13 thru 16.

POSITION ALL RAILING POST AND INSTALL ALL RAILING BEAMS, KICKPLATES AND
POST CAPS AS SHOWN IN DETAILS 20 thru 27,

10. CHECK THE ENTIRE MEZZANINE STRUCTURE TO SEE THAT ALL BOLTS NUTS, AND
LOCKWASHERS ARE IN PLACE AND TIGHTENED SECURELY..

[MPORTANT - ALL VERTICAL FRAMES AND STAIRWAYS ARE TO BE ANCHORED TO THE FLOOR.
ALL FLOOR ANCHORS ARE TO BE FURNISHED BY OTHERS..

w
L]

COPYRIGHT 1977 BY EQUIPTO - AURORA, ILL. ALL RIGHTS RESERVED _

41670B

1IASY




L=

W//M /
<

)

Korner Stairway ro:a__:@ Stairway

12" DEPTH (4' FRAME mzeze SEE DETAILS: 12' DEPTH (4' FRAME SPACING) SEE DETAILS:
OOO®E®OW ®® ODOOEO®EO®O®®®
DO D @® QO DO QD @®Q

16' DEPTH (8' FRAME SPACING) SEE DETAILS: 16' DEPTH (8' FRAME SPACING) SEE DETAILS:
ODOOO®E®®W @ @® DOOO®OEE®O® ®
DEDODOD BB D Qclofalnlelelolol

ey

(us)

=
€

| Middle Stairway Front Stairway

12' DEPTH (4' FRAME SPACING) SEE_DETAILS: 12! DEPTH (4' FRAME SPACING) SEE DETAILS:
OOO®EOW®® OOOE®O® ®
D@D B®Q@ WO

16' DEPTH (8' FRAME SPACING) SEE DETAILS: 16' DEPTH (8' FRAME SPAGING) SEE DETAILS:

OOOOWEOE®OUW®O® OOOOE®O® ®

— 0P OBD DEOODDOD O ® D




General Framing

TYPICAL MEZZANINE
4-0" SPACING

AURORA, ILLINOIS 60507

#18

—pererer:

ettt e

BEAM ASSEMBLY BEAM & CHANNEL DOUBLE CHANNEL

8106 - - 6'-0" - FIELD BOLTED - - FIELD BOLTED -

110 - -10'-0"

o)

CHANNEL ONLY LANDING BEAM

#18116 - - 6'~0" #18179 - - 45"
#18120 - -10'-O"

MEZZANINE FLOOR SUPPORTS

FIELD ASSEMBLING MEMBERS 2 AND 3

1. THE ROW OF HOLES MUST BE ON TOP OF BOTH CHANNELS,

2. FASTEN BOTH CHANNELS TOGETHER WITH 5/16" x 3/4"
HEX HEAD BOLTS AND LOCKNUTS IN 11/32" x 1/2" SLOTS.
(6 BOLTS IN SIX FT. BEAM AND 8 BOLTS IN TEK FT.)

IMPORTANT

FAILURE TO INSTALL THE KUMBER OF BOLTS
INDIGATED WILL RESULT IN AN UNSAFE STRUCTURE.

TYPICAL MEZZANINE
d 8- 0" SPACING

._a._!o.. FRAME SPACING

I
?

=i

INSTALL RiGiD BACK TIES APPROX.
7'-0" FROM THE MAIN FLOOR.

ffzﬁmwwww\m= x 3-1/2"
HEX HEAD BOLTS

RIGID BACK TIE

AND NUTS. (2)

#78108 END |
~-SUPPORT CHANNEL ~§'
9" x 101-3/4"

8'- 0" FRAME SPACING

-

 UPRIGHT_FRAMES
 SPAGED 8'~0" APART

LIFT CHANNEL INTO POSITION, DIRECTLY BELOW THE
ASSEMBLED FLOOR SUPPORT MEMBERS, AND FASTEN AS SHOWN.
#INSTALL ONE CHANNEL INSIDE THE EXTREME END FRAMES, 172" x 1" HEX HEAD-
*FASTEN ONE CHANNEL ON EACH SIDE OF INTERIOR FRAMES. BOLTS, rcnwu%mmmmw_
h AND NUTS.

FRAMING LAYOUT AT STAIRWAYS

USE THIS 4' FRAME SPAGING ARRANGEMENT WITH
*ALL 8' H1GH MEZZANINES EXCEPT THOSE 16' DEEP, |w»
{*ON 10" HiGH MEZZANINES 12' & 20" DEEP.

FOR STAIRWAY INSTRUCTIONS SEE
DRAWING #41334B or #41466A

USE THIS 8' FRAKE SPACING ARRANGEMENT WiTH

*ON 8' HIGH MEZZANINES 16" DEEP,

416708

#ALL 10" HiGH MEZZANINES EXCEPT THOSE 12 & 20° cmmm*l'

FROKT AND
END STAIRS

@~

S,




BEAM WITH END CONNECTORS
(RCW OF HOLES on TOP)

g ////
AT,

w--UPRIGHT FRAME

e ey

1. INSERT BEAM STUDS INTD KEYSLOTS
CN FACE OF THE UPRIGHT FRAME POST
AT EACH END,
2. PUSH BEAM DOWN, IT WiLL AUTOMAT I CALLY

LOCK INTO PLACE AND BE HELD BY SAFETY
LOCK SHOWN ABOVE.

END CONNECTOR

SAFETY LOCK

ASSEMBLING LANDING BEAM TO FRAME

ASSEMBLY AT EXTREME ENDS ™

IMPORTANT |

FAILURE TO INSTALL
BRACES WILL RESULT
IM AN UNSAFE UNIT.

#78110 BEAM

+— FRAME POST

OHE DIAGONAL BRACE
HAS BEEN SUPPLIED FOR
EACH EXTREME END FRAME.
DISTRIBUTE BRACES ALONG
THE DEPTH OF MEZZANINE. THE
EXTERNAL BRACE 1S SHOWN HERE..
FOR IMTERMAL LOCATIONS, INSTALL
TOP OF BRACE BETWEEN FLOOR SUPPORTS

#76112 DIAGONAL BRACE

172" x 1" HEX HEAD BOLTS,
—LOCKWASHERS, AND NUTS,

STAIR_HEADER

(8'-0" Frame Spacing) (3 per brace)

BEAM & CHANNEL
ASSEMBLY

DOUBLE CHANNEL
FLOOR SUPPORT

FLOOR SUPPORT
ASSEMBLIES AT

" 5/16" x 3/4" BOLTS AND

i LOCKNUTS (6 per end) 4= g'_o*
3/8" X 3/4" Hox Head Bolt, | SEE " 8-0 _FRANE
Lockwasher, and Nut. EIAL ~ #7109 TIE CHANMEL
/2" x 1" Hex Head Bolt, ' (2 per header) D 1. POSITION END OF TIE CHANNEL FLUSH WITH
Lockwasher,, and Nut. o OUTER SURFACE OF END SUPPORT CHANNEL AND
{2 per header) BOLT STAIRWAY HEADER N TOP SUPPORT CHANNEL ) mumz_qvw%xmmmwwwfammw_m“_,_z._zqmo_.ﬁw__u_.%“.
KEYSLOTS OF FRAME FOR LANDING 9" x 101-3/4" . : .

SUPPORT CHANNEL TOGETHER, AS SHOWN ABOVE.

GRATING SUPPORT AT EXTREME ENDS OF MEZZANINE

DOUBLE CHANNEL
FLOOR SUPPORT

#78169L&R END GRATING
SUPPORT BRACKET ——-—- .

5/16" x 3/4™ HEX HEAD
BOLTS AND LOCKNUTS.
(4 PER BEAM END)

ASSEMBLE THE END GRATING SUPPORT BRACKETS
OVER THE END OF THE BEAM. THEY ARE TO SUPPORT
GRATING WHICH WILL COME QUT 3" BEYOND BEAM.

INTERNAL ASSEMBLY
(8'-0" Frame Spacing)

DOUBLE_CHANNEL
ASSEMBLY

5/16" x 3/4" BOLTS AND
LOCKNUTS (4 per end)

#78109 TIE CHANNEL
5-7/8" x 9"

#78108_END
SUPPORT CGHANNEL
9" x 101-3/4"

1. PLACE TIE CHANNEL ACROSS BOTH END SUPPORT CHANMELS.
2. LOWER FLOOR SUPPORT MEMBER INTO TIE CHANNEL AND
FASTEN BOTH ENDS TO END SUPPORT GHANNELS,, AS SHOWN,
3. INSTALL THE NEXT FLOOR SUPPORT MEMBER N THE SAME
MANNER. NOTE - THERE WILL BE A 3" SPACE BETWEEN EACH
FLOOR SUPPORT MEMBER, WHEN ASSEMBLED ENG' TG END..

A””“””v BOLTING

#78117 BOLTING ANGLE

FLOOR SUPPORT TO FRAME

5/16" x 3/4" HEX HEAD

e DOUBLE BEAM STAIR MOUNTING

#78110 BEAMS (2)
(ONE ABOVE THE OTHER)™

_#9556L/R_TOP ANGLES
FOR_STAIRWAY

|MPORTANT ~ INSTALL TWO (2) BEAMS AS SHOWN ABOVE WHENEVER
KORNER OR MIDDLE STAIRWAY 1S TO BE RECESSED IN 8'-0" FROM
OUTER BEAM SURFACE. (TYPE KS & MS MODULES)

COPYRIGHT 1977 BY EQUIPTO-AURORA, ILL.

L

ALL RIGHT RESERVED

1-7/8"

BOLTS AND LOCKNUTS(3).

X 2-13/16" x 5-1/8"
ﬂ {w_ N
| /

1/2" x 1" HEX HEAD BOLTS, Emmzwmmga

NUTS, AND LOCKWASHERS(2). NEMBER BOLTING ANGLE
INPORTANT - ASSEMBLY METHOD SHOWN ABOVE IS TYPICAL FOR INSTALLING
FLOOR SUPPORT MEMBER ADJACENT TO THE KORNER OR MIDDLE STAIRWAYS
10 BE RECESSED 12' FROM FRONT OF MEZZANINE. 416708

I] ASY






T s pre-punched 3/16" x 3/4"

of Post / slots for SPACER GHANNEL.
— — )
o o - AW Pl RAILING POST
Q A r\\\ nﬂflll..nv
o ‘" >
oo Q  — 5
nr\\w Rl o
1"
Hg Nl W

3/8" x 1-1/2" Hex Head Bolts,
Lockwasher, Flat Washer, and

But. (4 per post) <R -
4-. =1

ﬂLDB OHHIJ Q_Lv\lrlnu

@ 1

N |
\LT ﬂ L\L\
Indicates pre-punched

o — slots in railing post
for 2-RAIL assembly.

Indicates slot knockouts
o~ for 4-RAIL or KICKPLATE
assembly.

3

3/8" x 1-1/2" Hex Head Bolts,
Lockvasher, Flat Washer, and
Nut. (4 per post)

|

A;Jv @ 80003 LINE POST e 8000I LINE _POST

(on side of panel) {on corner of panel )

.ol
>

" " 3/8" x 1-1/2" Hex Head Bolts,
LIE PGST—» 3/8" x 1-1/2" Hex Head Bolts, . Lockwasher, Fiat Washer, and

Lockwasher, Flat Washer, and LINE POST  Nut. (4 per post)
Kut, (4 per post)

NOTE: Use grating .

clamp and grating #18052 Nz

grating at post.
FLANGE SIDE OF

GRATING PANEL

SUPPORT CHANNEL #78182

: Circled Nusbers @ m&.___._ to ‘ | e
| Typical Railing Post Details. HANDRAIL LAYOUT AT STAIRWAYS
120 : 120" 120" 42" 120" 120" 120"
£ : I - ® = -
Q . N W W ‘/;@A ..nu._ =v N f ng @ : Q
c f@\! 2 z, . . as req'd
; e | el” ; :
o FRONT KORNER LANDLNG MIDDLE
- STAIRS STAIRS STMRS STAIRS STAIRS
% N .
" % | % 2 @|e! @@
. . A ‘ " . a " ~h K as req'd o
5 % &

t 41670B| 1 72" " 120" 7" 120"



manmyg anag )\h.ah\Q\..m L/ergais AURORA, ILLINOIS 60507

L
Fh. (312) 8591000

HANDRAIL BRACKETS

SPACER CHANNEL #78183 —
(Top End Only)

HARDRAIL BRACKETS MOUNTING PROCEDURE

1. Insert SPAGER CHANNEL into top end of all
railing posts, with flanges turned upward.

TOP_OF 2. Position RAILING BRACKETS at top of post
RAILING POST where rails are to be located,

3. Bolt thru railing bracket, post and flange
of spacer channel,

4. OSPACER CHANNEL must be bolted on both ends
in all post assemblies.

5. Position and bolt RAILING BRACKETS at the
center of post where rails are to be located.

6. Remove knockouts from bottom end of railing
post where kickplates are to be located.

7. Fasten kickplate MOUNTING ANGLES to bottom
end of railing posts as shown and tighten
al} bolts securely.

5/16" x 3/4" Hex Head
Bolt, Nut, and Lockwasher.
(1-per bracket)

Al

O
MOUNTING ANGLE #78180 . ] -
2 T0P Vi
m\.—ms X w\%: Hex Head wﬁm_x_wzmu.wun.
Bolt, Nut, and Lockwasher,
(2 per angle)
RAILING BRAGKET BAILING POST
- NN
T0P OF POST RAILING EHANNEL "7
, w—RAILING CHANNEL
.@
ol INSTALLING HANDRAIL
&—5/16" x 1/2 Round Head
Bolt, Lockwasher, and PLACE RAILING CHANNEL ON
) Locknut. (4 per rail) THE MOUNTING BRACKETS AND
BOLT IN PLACE. L~

5/16" x 1/2" Round Head
Bolt, Lockwasher and
Locknut, (4 per rail}

29

INSTALLING KICKPLATES @ POST_CAP_ASSEMBLY

#18181 POST CAP

KiCKPLATE

NOTE: Position cap, flex locking
leg inward with the blade of a
screwdriver, and push downward

-5/16" x 3/4" Hex Head to lock cap in place securely.
Bolts and Locknuts.

(4 per kickplate)

RAILING CHANNEL

POSITION KICKPLATE WITH FLANGES
FACING TOWARD THE OUTSIDE OF
THE MEZZANINE AND BOLT TO THE
MOUNTIRG ANGLES.

COPYRIGHT 1877 BY EQUIPTO - AURORA, tLL. ALL RIGHTS RESERVED

W



EQUIPTO

Modular Mezzanine Assembly

- ﬂ - f -
4 L 2 L &

ALL C8TALOG
MezzAMIME FRAMES

Ulo!' peeP AND
8'a' or 1O Hiou .

Si1GT70-t
PDerTH -FRAME SPACINGS
MeZZANMINE MEZTZANINS
&' HioH DEPTHS b e diew
170" e 2o'o" uot 780 20" 260" dolot oY 10" ot fuie® za'n" 3Rt adot yoo!

I

& ] i
” i) STANDARD SPACING (W4 or &') {
BETWEEN FRAMES To BE
” DETERMINED BY DEPTH OF ”
MeZZAMINE o

WIDTH - BEAM SPACING

IMPORTANT BAILING

\ 1Io'a" Lowea BeaMs

/

3" FRAMES o Lona Beamg

S ihue 2@ (o

BUN QUANTITY @ Belld LEMGTUS / INFORMATION -

leu | -
iZ'c;“ (C:'! 2 ° L"‘ @;(;O‘d o @G MoTe - BEAM LeneTns MWD

Ll ; BAILIMNG - KICKPLATS LEMGTHS
i o ° 2e o see BASICALLY THE SAME .
zZa'o" o o o -0 12 10 s 2@ &
27 o O O o 2@ 10 ape e & see DETAILS @Tuzu @.
POty o o o o o @ 10 aup 36 G AMD RBAILING SYSTEMS
5?'0" o O 0 3@ 10! o1l DACK FPLGES OF
333 o o o o 2210 pup C@® & ¥l eno.
BDIGY Omeem——O - o o 'o) fe 10" ao Y € L'
Eylich o ‘s O e —" 2 el amio |G
3¢ o 0 L ¢ ) 2@ \O'sue 26
y'at G o < 0 4@\
4a'g! o e O O ¥o! e |0 2€ &
yg'oy o o & o o 2@ |0 o 4 e &'
476" o O G - >—o0 el led
Halgh  om =0 O L 2 3210 ane 2@
%" o e 0 o O & S e o
53l5 On > s et O G——n-0 e I0'sn 2@ &
e L~ C To! o o o 3@ 0 po e G
512" o= O o o o Se@lOwme @ &
o' o 'S o - o o ¥o) He IO ave B0
Gi'sh o o o e o o b e i
oo o ~\ O o ol

AALC A

(=P

[IASY

1




Modular Mezzanine Assembly /nstructions

Ene EAaLS -

Mezz ANIINE DePTH

Fall AMD KICKPLATE LEnaTkS

The Greatest Name in Storage and Shop Equipment

EQUIPTO

AURCGRA, ILLINOIS 80507

Ph. (312) BSS—‘IDD -

{

M OTE .

THE ABove CuarT SHows Twe AroundT
of Y AND 12 wWine PaANELS wilcH bhre
BEQUIREDT FoR THE VARIOUS MEZZANING

wWioTHS,

|I|2I0\l leLO“ )ZOIOII 24'0“ ZBIO{I 321,011 5(010“ %\oll
R -] = o q 5 = @
uz" e e e \ e
by I b e
1 (t} U (1} |
SHENERE S —
23" a o3 H =3 o= i Q‘@ l& s \\\\\| \\>,f
7 ~ \\ y
93" A o3 B oz B oot 1\ % —
] 93“ -} 35“ -] 35" - \ \
" e B2z Boo23" \ '
W27 o2 L1C) “ / 0
1t ANE
i ('O :
d oz Yy 7 55AM$ i
’L% ; \ o
1 i DEPTU ! /__..LT:*:;
2" RAILING PosTs — N - WIDTH
: d =3 ="
MoTe - Szk Drawing *Ui &0
FoRrR PosT DETAlL . B ()
@ Roootd CorNeR POSTS PR ooceD PoSTS
WIDTH - GRATING, PANELS PANEL DEPTH - GRATING LENGTHS
MezZZ . WIDTH
PANIEL u i
MEZT . 1oTY oTu > 2 ") PAMEL LEMGTHS
1 L} E.'ZZ..
wers 9 ® 4rz' oW 6 peetdd | & [12'] & | 12
106" ot L3 G" 50 G 12'o" 1 !
AR 21 | tslal s3 G ot |2 2
20" 2" 25 va a4t sy 1 2o'e! | i I |
23 o 28 2 oyt i 57 7 200" 213
Faliel az 3 St £8 2 2Belot | 2 | 2| 1
29's" 35 3 33! & (ol & az'o" | 2 i 4
EN el 20 4 S6'o" G4 & 360" 320 1
3alal ok L 57" ©5 = uolon 212 217
35'6" uz 4 &0'o" LB 2 el oot
27 g 43 5 Gi'ed D 0 HEIGUT | UEIGHT
29' %" Yo 5 el Bl 10

PACa= 77




